
TowerLine

M6 x 12

M8 x 30

335 - 615

Treston Oy Sorakatu 1, FI-20730 TURKU • Tel. +358 10 4469 11 • sales@treston.com • treston.com

ASSEMBLY INSTRUCTION

905926
2018-12-13

1 (8)



M8 x 30

M8 

ASSEMBLY INSTRUCTION
905926

2018-12-13
2 (8)



M8 x 30

M8 

ASSEMBLY INSTRUCTION
905926

2018-12-13
3 (8)



M8 x 30

ASSEMBLY INSTRUCTION
905926

2018-12-13
4 (8)



5 x 20

ASSEMBLY INSTRUCTION
905926

2018-12-13
5 (8)



M8 x 30

M8 

M6

M6 x 12

ASSEMBLY INSTRUCTION
905926

2018-12-13
6 (8)



M6 x 40

ASSEMBLY INSTRUCTION
905926

2018-12-13
7 (8)



M8 x 30M8 x 30

M6 x 40
M8 x 30

ASSEMBLY INSTRUCTION
905926

2018-12-13
8 (8)


